

Private Lesson Fees - 2025/2026

Private Lessons with Elaine

September 15 - April 17

Mondays (24 Lessons)

- 30 Minute Lessons \$776 annually or 8 payments of \$97
- ❖ 45 Minute Lessons \$1040 annually or 8 payments of \$130
- 60 Minute Lessons \$1424 annually or 8 payments of \$178

Tues/Wed/Thurs/Fri (26 Lessons)

- 30 Minute Lessons \$840 annually or 8 payments of \$105
- 45 Minute Lessons \$1120 annually or 8 payments of \$140
- 60 Minute Lessons \$1536 annually or 8 payments of \$192

Private Lessons with Suzanne

September 15 - May 22

Mondays (29 Lessons)

- 30 Minute Lessons \$900 annually or 9 payments of \$100
- 45 Minute Lessons \$1200 annually or 9 payments of \$133
- ♦ 60 Minute Lessons \$1650 annually or 9 payments of \$183

Tues/Thurs (31 Lessons)

- 30 Minute Lessons \$990 annually or 9 payments of \$110
- ❖ 45 Minute Lessons \$1320 annually or 9 payments of \$147
- 60 Minute Lessons \$1815 annually or 9 payments of \$202

^{*}An additional registration fee of \$40 is required.

^{*}An additional registration fee of \$40 is required.



Group Singing Fees - 2025/2026

Tiny Tunes, Treble Makers I & II, Pitch Perfect

September 15 - April 17

Payment Options:

- \$576 annually (Aug 1)
- 2 payments of \$288 (Aug 1, Dec 1)
- 8 payments of \$72 (Sep 1 April 1)

Early Bird Special: Pay in full by June 6 - No registration fee.

Raise Your Voice - Ladies Choir

September 15 - April 26

Payment Options:

- ♦ \$300 annually (Aug 1)
- 2 payments of \$150 (Aug 1, Dec 1)

Early Bird Special: Pay in full by June 6 - No registration fee.

Broadway Bootcamp

June 23 - 27, 2025

- \$259 per camper
- ❖ Sibling #2 \$229
- Sibling #3 \$179

Camp Fees are due by May 15

^{*}An additional registration fee of \$40 is required.

^{*}An additional registration fee of \$25 is required.



Accompaniment Fees - 2025/2026 Elaine's Teacher Number: ENT00007

2026 Festival of Music - Saint John

Junior (14 and under)	Intermediate (15-17)	Senior (18+)
1 song - \$50	1 song - \$60	Fees to be
2 songs - \$75	2 songs - \$85	negotiated based on
3 songs - \$95	3 songs - \$110	level of difficulty,
4 songs - \$110	4 songs - \$140	rehearsal hours,
5 songs - \$125	5 songs - \$160	performance hours,
6 songs - \$140	6 songs - \$175	and practice hours.
7 songs - \$150	7 songs - \$190	
8 songs - \$160	8 songs - \$200	
Quick Study Class - \$10 (Ages 10+)	Quick Study Class - \$20	
Pre-Festival Venue Rehearsal - \$20	Pre-Festival Venue Rehearsal - \$25	

^{*}Students in group classes may book private lessons leading up to Music Festival \$30/half hour

\$55/hour

Included in your fees are the following:

- Selection of songs for the festival based on age, ability, personality, etc.
- Photocopies of songs for practical use
- Recordings of songs for practice at home
- Compiling of Festival Class Codes for entries
- Use of my music library of original copies of books and sheet music
- Preparation of original music (2 copies) for Adjudicator and Accompanist
- Performance time at the NB Festival of Music
- Performance time at Junior Star Concert and Founders Night Gala

^{*}Accompaniment Fees are due by Feb 15

^{*}Students may be asked to purchase a copy of music should Elaine not have 2 copies

^{*}Students may choose to hire a choreographer at their own expense



Accompaniment Fees - 2025/2026 Elaine's Teacher Number: ENT00007

2026 Provincial Music Festival - Sackville

Junior (14 and under)

1 discipline (e.g., Classical Voice) - \$175

2 disciplines (e.g., Classical Voice & Musical Theatre) - \$225

Intermediate (15-17)

1 discipline - \$250

2 disciplines - \$300

Senior (18+)

Fees to be negotiated based on level of difficulty, rehearsal hours, performance hours, and practice hours.

^{*}Includes clean up rehearsal